Madan & Wheaton

Fkwheaton@gmail.com

O: 310684381

Bill To:

Alfred Jackson

Time Entries

INVOICE

Number	1
Issue Date	3/5/2019
Due Date	4/4/2019

Time Entry	Billed By	Rate	Hours	Sub
Communicate (other external) 2/1/2017 Discussions w/Bob Labate re: Heirs Counsel matters and entertainment contracts	Frank Wheaton	\$720.00	2.00	\$1,440.00
Communicate (other external) 2/1/2017 Labate/Wheaton communicate re: completion of consulting agreement .	Frank Wheaton	\$720.00	1.50	\$1,080.00
Communicate (other external) 2/1/2017 communication with Angela Aycock-Comerica. Discussion re: protocol and translation of estate matters with Alfred Jackson.	Frank Wheaton	\$720.00	1.00	\$720.00
Communicate (other external) 2/1/2017 Call with you counsel regarding and other entertainment deals	Frank Wheaton	\$720.00	1.50	\$1,080.00
Review/analyze 2/2/2017 Wheaton/Labate confirmed with heirs Counsel re: Consultants Agreement for	Frank Wheaton	\$720.00	2.00	\$1,440.00
Review/analyze 2/2/2017 Mark Greiner confirms w/SA that Heirs Counsel Bob Labate and Frank Wheaton will continue to renegotiate and advise Consultant's Agreement. Bob & FW further discuss Consultant's Agreement	Frank Wheaton	\$720.00	1.50	\$1,080.00
Communicate (other external) 2/2/2017 Real estate appraisal to AJ from Linda Pringle to Michael Lythcott and Estate	Frank Wheaton	\$720.00	0.50	\$360.00
Communicate (other external) 2/2/2017 call with co counsel regarding PR transition issues	Frank Wheaton	\$720.00	0.50	\$360.00
Review/analyze 2/2/2017 review paperwork, and order sealing agreements	Frank Wheaton	\$720.00	1.20	\$864.00
Communicate (other external) 2/2/2017 email with heirs attorneys about BN/VN complaint and Comerica about Grammy request	Frank Wheaton	\$720.00	1.30	\$936.00

I-1 Page 1 of 7

				Filed in Di
Time Entry	Billed By	Rate	Hours	State of 3/29/12019
Communicate (other external) 2/3/2017 Continued negotiation of loans for all heirs and AJ - Document prep.	Frank Wheaton	\$720.00	2.00	\$1,440.00
Review/analyze 2/3/2017 Heirs Counsel, Bob Labate and FW review	Frank Wheaton	\$720.00	2.00	\$1,440.00
Review/analyze 2/3/2017 Andrea Bruce - Comerica request for review and approval of	Frank Wheaton	\$720.00	1.00	\$720.00
Communicate (other external) 2/3/2017 Communication from Andrea Bruce - Comerica & Heirs Counsel re: Super Bowl - licensing opportunity	Frank Wheaton	\$720.00	0.50	\$360.00
Communicate (other external) 2/4/2017 call with co counsel about transition issues	Frank Wheaton	\$720.00	1.50	\$1,080.00
Review/analyze 2/5/2017 review Elliot paperwork, confidential agreement, trial court record, and related documents	Frank Wheaton	\$720.00	2.00	\$1,440.00
Communicate (other external) 2/6/2017 Continued discussion conflict business related agreement signed by AJ and BJ Spoke with all parties	Frank Wheaton	\$720.00	2.50	\$1,800.00
Review/analyze 2/6/2017 Bob Labate/FW Film review and work w/SA regarding Press Release	Frank Wheaton	\$720.00	2.00	\$1,440.00
Plan and prepare for 2/6/2017 Preparation w/Bob Labate for delivery of draft of Bob Labate and FKW meet w/heirs Counsel	Frank Wheaton	\$720.00	2.50	\$1,800.00
Communicate (other external) 2/6/2017 emails with heirs counsel regarding	Frank Wheaton	\$720.00	1.50	\$1,080.00
Communicate (other external) 2/7/2017 Angela Aycock - Comerica since preliminary Press Release for Labate/Wheaton informed and briefed	Frank Wheaton	\$720.00	2.50	\$1,800.00
Communicate (other external) 2/7/2017 call with co counsel regarding	Frank Wheaton	\$720.00	0.90	\$648.00
Communicate (other external) 2/7/2017 call with all heirs counsel regarding	Frank Wheaton	\$720.00	1.20	\$864.00
Review/analyze 2/7/2017 review Mason affidavit, TRO paperwork, and related documents. Research TRO issues	Frank Wheaton	\$720.00	3.50	\$2,520.00

				State of
Time Entry	Billed By	Rate	Hours	3/29/12/019
Review/analyze 2/8/2017 Review of Final Press Release w/changes with Estate/Comerica, Heirs Counsel and Heirs	Frank Wheaton	\$720.00	2.00	\$1,440.00
Communicate (other external) 2/8/2017 Heirs Counsel Discussion - Paisley Park Contract Matters	Frank Wheaton	\$720.00	2.00	\$1,440.00
Review/analyze 2/8/2017 Comments on by Jeff Greenberg - Bob Labate/Frank Wheaton Discussion w/Wheaton-Labate and Heirs following	Frank Wheaton	\$720.00	2.00	\$1,440.00
Review/analyze 2/9/2017 Review and discussion of major chart creation of key issues of and ancillary agreements.	Frank Wheaton	\$720.00	2.00	\$1,440.00
Communicate (other external) 2/9/2017 Message from Jeff Greenberg re: payments to heirs/consultants under Consultaing Agreement. Discussion with Labate and other Heirs Counsel	Frank Wheaton	\$720.00	2.50	\$1,800.00
Communicate (other external) 2/9/2017 call with co counsel about BN/VN appeal	Frank Wheaton	\$720.00	1.00	\$720.00
Communicate (other external) 2/10/2017 Paisley Park Tour Book/Guitar Book discussion SA and heirs Counsel	Frank Wheaton	\$720.00	2.00	\$1,440.00
Communicate (other external) 2/10/2017 Comerica agenda for 2/14 discussion with heirs counsel regarding licensing, tribute concert, Paisley Park, merchandising and other contracts	Frank Wheaton	\$720.00	2.50	\$1,800.00
Review/analyze 2/10/2017 review letter to Judge Eide, Ellis-Lamkins petition, GPM and Cozen fee documents, and other recent filings, follow up on fee documents	Frank Wheaton	\$720.00	4.00	\$2,880.00
Communicate (other external) 2/11/2017 Weekend discussion amongst heirs counsel on various estate matters prior to major meeting on 2/14	Frank Wheaton	\$720.00	2.00	\$1,440.00
Review/analyze 2/14/2017 repors/discussion re heirs meeting regarding estate matters	Frank Wheaton	\$720.00	1.50	\$1,080.00
Communicate (other external) 2/14/2017 call with heirs attorneys, Comerica, and BN/VN attorney	Frank Wheaton	\$720.00	0.50	\$360.00
Communicate (other external) 2/14/2017 call with co counsel abut fees, appeals, DNA protocol and related heirship issues	Frank Wheaton	\$720.00	2.50	\$1,800.00
Communicate (other external) 2/15/2017 Communication from AA - Comerica re translation of estate matters for Alfred Jackson, The Voice, Lip Sync Battle and other matters	Frank Wheaton	\$720.00	3.00	\$2,160.00

	10111110110			Filed in D
Time Entry	Billed By	Rate	Hours	State of 3/29/12/01
Communicate (other external) 2/15/2017 Heirs counsel discussion - tax matters	Frank Wheaton	\$720.00	2.00	\$1,440.00
Communicate (other external) 2/15/2017 letter from Angela Aycock explaining Prince's 2009 tax situation, taxe paid \$2M further explanation from CPA firm on other taxes to be discussed. Explanation to Alfred Jackson follows.	Frank Wheaton	\$720.00	1.00	\$720.00
Communicate (with client) 2/15/2017 All heirs counsel minutes SA assigns Wheaton to translate and expla to Alfred & Bruce	Frank Wheaton	\$720.00	2.00	\$1,440.00
Review/analyze 2/16/2017 Notes from Angela Aycock/SA regarding updates, sales, etc.	Frank Wheaton	\$720.00	1.00	\$720.00
Communicate (with client) 2/16/2017 Minutes from Tuesday (Aycock) meeting re: estate matters. Explanation to AJ	Frank Wheaton	\$720.00	1.00	\$720.00
Review/analyze 2/16/2017 review paperwork, Jackson Leverette objection and related paperwork, recently filed orders, Ordal affidavit and DNA results	Frank Wheaton	\$720.00	2.70	\$1,944.00
Communicate (other external) 2/16/2017 email with heirs counsel regarding memo and motion for extension an review paperwork	Frank Wheaton	\$720.00	2.50	\$1,800.00
Communicate (other external) 2/17/2017 Conversion with Bob Labate re: Judge's call and agreements.	Frank Wheaton	\$720.00	2.00	\$1,440.00
Review/analyze 2/17/2017 Aycock/Comerica sends items to Report; Bravado and Real Estate matters to Alfred Jackson	Frank Wheaton	\$720.00	1.00	\$720.00
Communicate (other external) 2/17/2017 Review of Bravado contracts and discussion with Heirs counsel	Frank Wheaton	\$720.00	1.00	\$720.00
Appear for/attend 2/17/2017 call with court and follow up with issues discussed	Frank Wheaton	\$720.00	1.00	\$720.00
Review/analyze 2/20/2017 review Bremer fee paperwork and other documents	Frank Wheaton	\$720.00	1.50	\$1,080.00
Review/analyze 2/21/2017 Draft from Jeff Greenberg - Discussion and review w/Bob Labate	Frank Wheaton	\$720.00	1.50	\$1,080.00
Review/analyze 2/21/2017 Aycock, heirs counsel - discussion re: Hope Academy and other 501	Frank Wheaton	\$720.00	1.00	\$720.00

Aycock, heirs counsel - discussion re: Hope Academy and other 501 C3's. Uses of Prince logo etc.

Time Entry	Billed By	Rate	Hours	State o 3/29/1 <u>2</u> 01
Communicate (other external) 2/21/2017 call with co counsel abut motion for extension and	Frank Wheaton	\$720.00	1.80	\$1,296.00
Review/analyze 2/24/2017 review 10/21 prate transcript, disallowance of claim, appellate curt order and follow up research regarding related issues	Frank Wheaton	\$720.00	3.20	\$2,304.00
Communicate (other external) 2/26/2017 call with co counsel about SA accounting	Frank Wheaton	\$720.00	1.10	\$792.00
Review/analyze 2/27/2017 Urgent: comments from L. Londell McMillan. Further discussion, review and comments w/Bob Lebate. Wheaton and Labate comtinuew working on for heirs.	Frank Wheaton	\$720.00	2.50	\$1,800.00
Plan and prepare for 2/27/2017 Completion of preparation of a Memorandum Draft in Support of Fees for Entertainement Services. Review and discussion of drafts - with Bob Labate	Frank Wheaton	\$720.00	2.50	\$1,800.00
Communicate (other outside counsel) 2/28/2017 Continuous discussion with lenders, etate and heirs re contracts for loans spoke with additional parties involved.	Frank Wheaton	\$720.00	2.00	\$1,440.00
Communicate (other external) 2/28/2017 call with co counsel regarding appeal issues	Frank Wheaton	\$720.00	0.50	\$360.00
Draft/revise 2/28/2017 work on attorney fee paperwork	Frank Wheaton	\$720.00	3.00	\$2,160.00
Communicate (other external) 3/1/2017 Meetings & telephone conversations in preparation for proposal for Estate.	Frank Wheaton	\$720.00	3.50	\$2,520.00
Draft/revise 3/2/2017 Drafting and preparing proposal for Estate by	Frank Wheaton	\$720.00	5.00	\$3,600.00
Communicate (other external) 3/2/2017 Discussion and presentation for submission of proposal to Estate.	Frank Wheaton	\$720.00	1.00	\$720.00
Communicate (other external) 3/2/2017 Memo/discussion re: Nelson appeal and request for extension.	Frank Wheaton	\$720.00	1.00	\$720.00
Communicate (other external) 3/3/2017 email with heirs counsel and BN/VN counsel regarding appeal, follow up on related issues	Frank Wheaton	\$720.00	2.00	\$1,440.00
Draft/revise 3/3/2017 put together attorney fee paperwork and email with co counsel regarding same	Frank Wheaton	\$720.00	4.00	\$2,880.00

				Filed in Di
Time Entry	Billed By	Rate	Hours	State of 3/2 3// 2019
Review/analyze 3/4/2017 Review of Fees and versions of fee-based memos with Bob	Frank Wheaton	\$720.00	1.00	\$720.00
Communicate (other external) 3/4/2017 call with co counsel about fees and heirship issues	Frank Wheaton	\$720.00	1.00	\$720.00
Communicate (other external) 3/4/2017 call with co counsel regarding appeals	Frank Wheaton	\$720.00	0.70	\$504.00
Draft/revise 3/5/2017 Draft and preparation for Memorandum in Support of Motion to Approve Payment of Entertainement - Attorney's fees	Frank Wheaton	\$720.00	4.00	\$2,880.00
Communicate (other external) 3/6/2017 call with co counsel regarding SA accounting and other attorney fees	Frank Wheaton	\$720.00	1.20	\$864.00
Review/analyze 3/6/2017 review paperwork regarding dismissal of Cousins claim, Pro Hac Vice motion, and all paperwork regarding attorneys fees work on order to grant fee extension	Frank Wheaton	\$720.00	3.70	\$2,664.00
Communicate (other external) 3/7/2017 Submission of to the Estate to AA and CK. AB later copied. Comprehensive proposal regarding - manufacturer has committed \$2M for - conversations/AA & AB - Comerica	Frank Wheaton	\$720.00	0.80	\$576.00
Draft/revise 3/7/2017 Draft of affidavit for motion	Frank Wheaton	\$720.00	2.50	\$1,800.00
Draft/revise 3/7/2017 continue work on attorney fee paperwork and correspond with co counsel	Frank Wheaton	\$720.00	2.80	\$2,016.00
Draft/revise 3/9/2017 Affidavit (Final Draft and Edit for motion	Frank Wheaton	\$720.00	2.00	\$1,440.00
Draft/revise 3/10/2017 Draft of letters to G.A. Walker, lender to heirs for loans. All heirs and Estate will benefit until disbursements from Estate are made.	Frank Wheaton	\$720.00	1.70	\$1,224.00
Review/analyze 3/10/2017 Review of application of existing orders and protocols to the Personal Representative	Frank Wheaton	\$720.00	0.50	\$360.00
Review/analyze 3/10/2017 review objections to final accounting, Duane Nelson parentage documents, SA fee documents, and other recent court filings. Follow up research into same	Frank Wheaton	\$720.00	4.10	\$2,952.00
Communicate (other external) 3/11/2017 Discussion w/Bob Labate regarding Estate proposals and upcoming hearings.	Frank Wheaton	\$720.00	1.00	\$720.00

Preparation of Appellate narrative for fee disputes, Modified special version for Tom Kane. Communicate (other external) 11/18/2017 Email and confidential call from Joe Cassioppi - extended discussion regarding real estate		0.80	\$360.00
	\$720.00	0.80	φ37 6. 00
Plan and prepare for Frank Whea			\$576.00
Plan and prepare for Frank Whea 6/25/2017 Preparation of Appellate motion - Estate Matters	ston \$720.00	3.00	\$2,160.00
Review/analyze Frank Whea 3/17/2017 review objections to Stinson fees, Jackson Leverette paperwork, motion to quash, PR objection, and Sayers affidavit and related paperwork	ston \$720.00	2.80	\$2,016.00
Appear for/attend Frank Whea 3/17/2017 call with court and follow up on issues raised	aton \$720.00	2.00	\$1,440.00
Communicate (with client) Frank Whea 3/14/2017 Heirs meeting - Translation for Alfred Jackson	\$720.00	0.00	\$0.00
Time Entry Billed By	Rate	Hours	State 3/29//8/

Total (USD) \$114,120.00
Paid \$0.00
Balance \$114,120.00

Total